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4.4 jhw;wdpd; gFjpaKf;f 
tpjp 
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Nju;r;rpkl;lk; - 4.4 

thAf; fyitnahd;wpd; elj;ijia tpsf;Ftjw;F jhw;wdpd; gFjpaKf;f tpjpia 

gad;gLj;JtH. 

 

 

 

 

 gy thAf;fis nfhz;l xU fyitapd; nkhj;j mKf;fj;jpw;F mf;fyitapYs;s 

mikg;Gf;$W thAf;fs; xt;nthd;wpdJk; gq;fspg;G me;je;j thAtpd; gFjpaKf;fk; 

vdf; fUjyhk;. 

 thAf;fyitapYs;s ahjhapDnkhU thAf;$W jdpj;J fyitapd; fdtsit 

milf;Fk; NghJ Vw;gLj;Jk; mKf;fNk gFjpaKf;fk; vd tiuaWf;fg;gLk; 

 

 

 

 

 xd;Nwhnlhd;W ,ilj;jhf;fKwhj $WfisAila xU thAf;fyit Vw;gLj;Jk; 

nkhj;j mKf;fkhdJ mjd; mikg;G thAf;$Wfspd; jdpj;jdp gFjpaKf;fq;fspd; 

$l;Lj;njhiff;Fr; rkdhFk; 

 thAf;fs; A, B, C [f; nfhz;l fyitnahd;wpy; jdpj;jdp gFjpaKf;fq;fs; KiwNa 

PA, PB, PC   vdpd; nkhj;j mKf;fk; PT MdJ gpd;tUk; rkd;ghl;lhy; jug;gLk;. 

 

 

 

A, B vDk; jk;Ks; jhf;fKwhj thAf;fyitnahd;wpy; mtw;wpd; %y;fs; KiwNa nA, nB 

vdTk; nkhj;j %y;fs; nT vdTk; fUJf. 

 

gFjpaKf;fk; 

jhw;wdpd; gFjpaKf;f tpjp 

PT = PA + PB + PC 

 PV = nRT 
thA A ,w;F nA =  
 
thA B ,w;F nB = 
 
 
thA fyitf;F nT  =  

,yl;rpa thAr; rkd;ghl;bidg; gad;gLj;jp jhw;wdpd; gFjpaKf;f tpjpia epWTjy; 
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A ,d; %yg;gpd;dk; XA    =   
 
         
          =            
  
 
 
      PA    =  XA  X  PT 

= 

Note: 

 

cjhuzk;: 1  

xU thAf;fyitahdJ 0.8 mol iejurd; (N2) thA 0.2 mol xl;rprd; (O2) thA 

vd;gtw;iw cilaJ. njhFjpapd; nkhj;j mKf;fk; 1 X 105 Nm-2 vdpd; thAf;fspd; 

gFjpaKf;fq;fisf; fzpf;Ff. 

 

  
 

 
 
 
 

 
 

 
,NjNghd;W 

tpil: 

nT = nA + nB 

 
 
 
 

PT=PA=PB 
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cjhuzk;: 

thAf; fyitnahd;W fdtsT uPjpahf 75% N2 [Ak; 25% O2 [Ak; nfhz;Ls;sJ. 

,f;fyitapd; mKf;fk; 1 X 105 Nm-2 ck; ntg;gepiy 300 K ck; MFk;.  

,yl;rpa elj;ijiaf; fUjpg; gpd;tUtdtw;iwf; fzpf;f 

1. ,t;thAf; fyitapYs;s O2 thAtpd; gFjpaKf;fk;? 

2. fyitf;Fg; nghUj;jkhd rhH %yf;$w;Wj; jpzpT? (N=14, O=16) 

3. thAf; fyitapd; mlHj;jp 

  fdtsT  %y; (PV = nRT, P,T khwpyp vdpd; v  n) 

 

   

tpdh 1 
 
8.314 dm3 fdtsTs;s xU FLitapy; He thA MdJ 300 K ,Yk; 3 X 105 Nm-2 ,Yk; 

cs ;sJ. 16 . 6 28 dm3 fdtsTs ;s ,d ;ndhU FLit Y MdJ 127°C ,Yk;          

4 X 105 Nm-2 ,Yk; Ne thAitf; nfhz;Ls;sJ. (He = 4, Ne = 20) 

 

1. He, Ne thAf;fs; xt;nthd;wpdJk; msTfs; ahJ? 

2. He, Ne thAf;fs; xt;nthd;wpdJk; mlHj;jp ahJ? 

3. ,U FLitfSk; Gwf;fzpf;fj;jf;f fdtsTila Fohnahd;wpdhy; ,izf;fg;gl;L 

njhFjpahdJ 27°C ,y; Ngzg;gl;lnjdpd; njhFjpapd; nkhj;j mKf;fk; ahJ? 

4. FLit X ,Ys;s Ne thAtpd; gFjpaKf;fk; (27°C) ahJ? 

5. ,U FLitfSk; ,izf;fg;gl;l gpd; njhFjpahdJ 400K ,w;F #lhf;fg;gl;lnjdpd; 

nkhj;j mKf;fk; ahJ? 

/ fdtsTg;gpd;dk; = %yg;gpd;dk; 
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2 

= 1.16 Kgm-3 

3 

tpdh 
77°C ,y; N2 thAtpd; fpl;ba tHf;f,il %y Ntfk; ahJ? (rh.m.jp N=14) 
 
1) 1.77 X 101 ms-1   2) 3.12 X 102ms-1  3) 5.58 X 102ms-1  

 
4) 7.89 X 102ms-1  5) 3.12 X 105ms-1 

tpdh 
xU thA A ,d; 4 mol MdJ xU khwhf;fdtsTs;s ghj;jpuj;jpy; itf;fg;gl;L 

gpd;tUkhW rkepiyaila tplg;gl;lJ.  2A(g)                    A2(g)   thAf; fyitapd; mlHj;jp 

10 Kgm-3 MFk;. A ,d; rhuZ jpzpT 30 vdpd; A2(g) ,d; gFjpaKf;fk; ahJ? 

tpdh 
,yl;rpa thAr; rkd;ghl;bypUe;J mKf;fj;jpw;f;Fk; nrwptpw;Fkhd njhlHGilikia 

ngWf 

tpil:  
 
 
 
 
 

 

Mdhy;  
  

, nrwpT 

/ P = CRT 

1 


